
V1.05.07.22
EEI-4764

PAGE 1 0F 9



PAGE 2 0F 9

TV Stand Body

Leg                    

Apron

x1

x2

x2

x2

x14

Fla

Push to Open Latch

Anti Tipping 150x28x3mm

t Washer M6 x 16mm               x6

Allen Key M4      x1

Bolt M6 x 15mm                

     x3

①

②

②

③

③

Wall Anchor      x2



PAGE 3 0F 9

2

3

Leg

Apron

x2

x2

③

③

②

②

x8
B D

B x8

D x1

Bolt M6 x 15mm

Allen Key M4

TV Stand Body x1

B x6

D x1

Bolt M6 x 15mm

Allen Key M4

1

C Flat Washer M6 x 16mm                   x6

x6
D

C B

Step 1

Step 2

zahar
Cross-Out



TV Stand Body

Anti Tipping 150x28x3mm

x1

A x2

1

TV Stand Body

Push to Open Latch

x1

E x3

1

PAGE 4 0F 9

x2

A

E

E

x3

Once installed, it can be adjusted to 
a suitable clearance for pressing.

Step 3

Step 4



PAGE 5 0F 9

Press the corner of door to open

Step 5

Step 6



TV Stand Body

Wall Anchor

x1

F x2

1

PAGE 5 0F 9

2x F

Step 7



PAGE 6 0F 9

Back view

Guide to dismantle the back panel



PAGE 7 0F 9

Open the door and pull out the shelf

Guide to adjust the shelf height



PAGE 8 0F 9

B

x4

x4

Unscrew the shelf support to 
adjust the shelf height

Secure the shelf support

Push the shelf



PAGE 9 0F 9

TV stand assembly is complete




